
 בחשמל נוסחאון מתומצת
 פולריזציה ודיפול:

 𝐷 = εr𝜀𝑜𝐸 

 𝑃 = 𝐷 − 𝜀𝑜𝐸 

  בתוך חומר מוליךE=0. 

 

 זרם חשמלי:

 V = IR 

 𝑅 = 𝜌
𝑙

𝐴
 

 I = J ∙ A 

 J = n ∙ e ∙ v 

 

 קיבול:

 𝐶 =
𝑄

∆𝑉
 

 C =
ε0𝜀𝑟𝐴

𝑑
 

 

 משוואות מקסוול האינטגרליות:

 ∮ 𝐸 ∙ 𝑑𝑠
 

𝑠
=

𝑞

𝜀0
 

 ∮ 𝐵 ∙ 𝑑𝑠
 

𝑠
= 0 

 ∮ 𝐸 ∙ 𝑑𝑙
 

 
= −

𝑑𝜙𝜇

𝑑𝑡
 

 ∮ 𝐵 ∙ 𝑑𝑙
 

 
= 𝜇0 (𝐼 + 𝜀𝑜

𝑑𝜙𝐸

𝑑𝑡
) 

 

 משוואות מקסוול הדיפרנציאליות:

 ∇ ∙ 𝐸 =
𝜌

𝜀0
 

 ∇ ∙ 𝐵 = 0 

 ∇ × 𝐸 = −
𝜕𝐵

𝜕𝑡
 

 𝐸 = −
𝑑𝐴

𝑑𝑡
 

 ∇ × 𝐵 = 𝜇0𝐽 + 𝜇0𝜀0 ∙
𝜕𝐸

𝜕𝑡
 


